
Quantity Part # Part Description Price

1 DJ-001 Draw Tube Adapter Call for Pricing

1 DJ-002 Draw Tube Call for Pricing

1 DJ-003 Cylinder Piston Call for Pricing

1 DJ-004 Cylinder Cap Call for Pricing

1 DJ-005 Hand Knob Call for Pricing

1 DJ-006 Inner Piston Ring Call for Pricing

1 DJ-007 Air Cylinder Housing Call for Pricing

1 DJ-008 Detent Hub Call for Pricing

1 DJ-009 Motor Pulley Call for Pricing

1 DJ-010 Drive Pulley Call for Pricing

1 DJ-011 Main Shaft 5C Call for Pricing

1 DJ-012 Main Spindle Housing Call for Pricing

1 DJ-013 Bearing Retainer Call for Pricing

1 DJ-014 Spacer Ring Call for Pricing

1 DJ-015 Collet Closer Call for Pricing

1 DJ-016 Collet Key Call for Pricing

2 DJ-020 Set Screw 5/16-18 x 1/4" Call for Pricing

1 DJ-021 Belt Guard Call for Pricing

1 DJ-069 Motor Mount Call for Pricing

2 DJ-410 Spring Call for Pricing

2 DJ-414 Steel Ball 1/4" Dia. Call for Pricing

1 DJ-421 Woodruff Key Call for Pricing

1 DJ-424 Small Snap Ring Call for Pricing

1 DJ-434 Large Snap Ring Call for Pricing

1 DJ-445 Drive Belt Call for Pricing

1 DJ-466 Plastic Plug Call for Pricing

1 DJ-505 Motor Spacer Plate Call for Pricing

1 A-202 Air Solenoid 120 Volt Call for Pricing

2 A-300 Air Fitting 1/8 NPT Swivel Call for Pricing

3 A-301 Air Fitting 1/4 NPT Straight Call for Pricing

12 A-302 Air Line 1/4" Dia.  (12") Call for Pricing

1 A-400 O-Ring   SAE 336 Call for Pricing

1 A-402 O-Ring   SAE 342 Call for Pricing

2 A-404 O-Ring   SAE 350 Call for Pricing

1 A-406 O-Ring   SAE 049 Call for Pricing

2 B-100 Bearing  6209ZZ Call for Pricing

1 B-101 Bearing 5210ZZ Call for Pricing

1 E-100 Control Box Call for Pricing

1 E-101 Sub-Panel Call for Pricing

                                      POLISHING LATHE PARTS LIST

2025  Pricing effective    1-1-2025 thru 12-31-2025



1.5 E-102 Terminal Strip  12 Poles Call for Pricing

1 E-300 Switching Relay 120 Volt Call for Pricing

2 E-301 Switching Relay 240 Volt Call for Pricing

1 E-302 Foot Switch - Guard Call for Pricing

1 E-303 Power Cord Call for Pricing

2 E-509 Knob Kit Call for Pricing

1 E-510 Speed Potentiometer Call for Pricing

1 E-600 Start Button Call for Pricing

1 E-601 Stop Button Call for Pricing

1 E-606 Contact Block N/O Call for Pricing

1 E-607 Contact Block  N/C Call for Pricing

1 E-610 Label -Start Call for Pricing

1 E-611 Label - Stop Call for Pricing

1 E-701 Solid State Inverter - 1Hp Call for Pricing

1 E-702 Solid State Inverter - 2Hp Call for Pricing

2 F-100 Set Screw 5/16 x 1/4" x 1/4" Call for Pricing

2 F-101 Set Screw 1/4" x 20 x 1/4" Call for Pricing

1 F-102 Set Screw 1/4" x 20 x 5/16" Call for Pricing

1 F-103 Set Screw 1/4" x 20 x 3/8" Call for Pricing

2 F-104 Set Screw 1/4" x 20 x 1/2" Call for Pricing

1 F-105 Set Screw 1/4" x 20 x 1-1/4" Call for Pricing

8 F-204 Allen Cap   5/16 - 18 x 1 Call for Pricing

8 F-301 Allen Cap   10-32 x 5/8" Call for Pricing

2 F-302 Allen Cap  3/8 - 16 x 1 Call for Pricing

4 F-303 Allen Cap   3/8 - 16 x 1-1/4" Call for Pricing

1 M-106 Motor AC  1Hp Call for Pricing

1 M-300 Motor DC  1Hp Call for Pricing

1 N-100 Front Nut Call for Pricing

12 N-200 Hex Cap 1/4 - 20 x 1/2" Call for Pricing

4 N-201 Hex Cap 1/4 - 20 x 1" Call for Pricing

9 N-202 Hex Nut 1/4 - 20 Call for Pricing

13 N-203 1/4" Dia. Flate Washer Call for Pricing

9 N-301 Hex Nut  8-32 Call for Pricing

10 N-302 #8 Flat Washer Call for Pricing

4 N-303 #8 32 x 1/2" Screw Call for Pricing

4 N-304 #8 32 x 5/82" Screw Call for Pricing

2 N-305 #8 32 x 3/4" Screw Call for Pricing

2 N-306 #8 32 x 1" Screw Call for Pricing

5 DJ-003 Drill & Tap  (5) Holes Call for Pricing

1 DJ-008 Drill & Tap  (1) Holes Call for Pricing

1 DJ-009 Drill & Tap  (1) Holes Call for Pricing

1 DJ-011 Mill Keyway Call for Pricing

1 Machining & Assembly Call for Pricing


